
 

 

 

 

 

 

 

 

 

 

ASSEMBLY INSTRUCTIONS FOR 

THE SEA RANCH PICNIC TABLE 

 

 

 

 

 

 

 

 

 

 

 

 
 

 
 

866.332.2403 (TOLL FREE); 7am – 7pm Pacific Time, Monday-Saturday 



 

P| 1  

THE SEA RANCH PICNIC TABLE 

www.ForeverRedwood.com 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

C
O

N
T

E
N

T
 O

F
 B

O
X

E
S

 

N
o

. 

1
 

2
 

3
 

4
 

5
 

6
 

7
 

8
 

D
ra

w
in

g
 

 

 

 

 

 

 

 

 

D
es

cr
ip

ti
o

n
 

U
p

p
er

 L
o
n

g
 S

u
p
p

o
rt

s 

In
-B

et
w

ee
n

 B
lo

ck
in

g
 

U
p

p
er

 S
h

o
rt

 S
u
p

p
o
rt

s 

L
o

w
er

 L
o

n
g

 S
u

p
p

o
rt

s 

L
o

w
er

 S
h

o
rt

 S
u
p

p
o

rt
s 

L
eg

s 

S
et

s 

T
ab

le
to

p
 B

o
ar

d
s 

Q
ty

. 

2
 

6
 

4
 

2
 

4
 

4
 

4
 

W
il

l 

V
ar

y
 

N
o
te

: 
P

a
rt

 n
u

m
b

er
s 

in
 t

h
e 

C
o

n
te

n
t 

o
f 

B
o
xe

s 
T

a
b
le

 a
re

 f
o
r 

re
fe

re
n
ce

 o
n
ly

. 
T

h
es

e 
d
o
 n

o
t 

m
a
tc

h
 t

o
 t

h
e 

n
u

m
b
er

s 
m

a
rk

ed
 o

n
 t

h
e 

p
a

rt
s 

se
n
t.

 



 

P| 2  

THE SEA RANCH PICNIC TABLE 

www.ForeverRedwood.com 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

H
A

R
D

W
A

R
E

 L
IS

T
 

N
o

. 

A
 

B
 

C
 

D
 

E
 

F
 

G
 

D
ra

w
in

g
 

 

 

 

 

 

 

 

D
es

cr
ip

ti
o

n
 

3
/8

´´
 X

 1
7

´´
 B

o
lt

s 

(T
o

 a
tt

ac
h

 t
h

e 
lo

n
g

 s
u
p

p
o
rt

s 
to

 t
h

e 
in

-

b
et

w
ee

n
 b

lo
ck

in
g

).
 

3
/8

´´
 X

 9
 ½

´´
 B

o
lt

s 

(T
o

 a
tt

ac
h

 t
h

e 
sh

o
rt

 s
u

p
p
o

rt
s 

to
 t

h
e 

in
-

b
et

w
ee

n
 b

lo
ck

in
g

. 
/ 

T
o

 a
tt

ac
h

 t
h

e 
le

g
s 

to
 

th
e 

su
p

p
o

rt
s)

. 

3
/8

´´
 X

 5
´´

 B
o

lt
s 

(T
o

 a
tt

ac
h

 t
h

e 
se

at
s 

to
 t

h
e 

su
p
p

o
rt

s)
. 

3
/8

´´
 X

 7
 ½

´´
 B

o
lt

s 

(T
o

 a
tt

ac
h

 t
h

e 
se

at
s 

to
 t

h
e 

su
p
p

o
rt

s)
. 

3
/8

´´
 X

 8
 ½

´´
 B

o
lt

s 

(T
o

 a
tt

ac
h

 t
h

e 
ta

b
le

to
p

 t
o

 t
h

e 
su

p
p

o
rt

s)
. 

3
/8

´´
 X

 7
´´

 B
o

lt
s 

(T
o

 a
tt

ac
h

 t
h

e 
ta

b
le

to
p

 t
o

 t
h

e 
su

p
p

o
rt

s)
. 

3
/8

´´
 X

 4
 ½

´´
 B

o
lt

s 

(T
o

 a
tt

ac
h

 t
h

e 
ta

b
le

to
p

 t
o

 t
h

e 
su

p
p

o
rt

s)
. 

N
o
te

: 
D

im
en

si
o
n
s 

o
f 

yo
u
r 

h
a
rd

w
a
re

 w
il

l 
va

ry
 d

ep
en

d
in

g
 o

n
 s

iz
e.

 



 

P| 3  

THE SEA RANCH PICNIC TABLE 

www.ForeverRedwood.com 

 

 

 

 

 

 

                                    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

N
o

 

1
 

2
 

3
 

4
 

5
 

6
 

7
 

8
 

D
E

S
C

R
IP

T
IO

N
 

U
p

p
er

 L
o
n

g
 S

u
p
p

o
rt

s 

In
-B

et
w

ee
n

 B
lo

ck
in

g
 

U
p

p
er

 S
h

o
rt

 S
u
p

p
o
rt

s 

L
o

w
er

 L
o

n
g

 S
u

p
p

o
rt

s 

L
o

w
er

 S
h

o
rt

 S
u
p

p
o

rt
s 

L
eg

s 

S
et

s 

T
ab

le
to

p
 B

o
ar

d
s 

N
o

te
: 

P
a

rt
 n

u
m

b
er

s 
in

 t
h
e 

D
ra

w
in

g
 a

re
 f

o
r 

re
fe

re
n
ce

 o
n
ly

. 
T

h
es

e 
d
o
 n

o
t 

m
a
tc

h
 t

o
 t

h
e 

n
u

m
b
er

s 
m

a
rk

ed
 o

n
 t

h
e 

p
a

rt
s 

se
n
t.

 

1 

2
 

3 

3 

4 

5
 

6 

6 

7 

7
 

8 



 

P| 4  

THE SEA RANCH PICNIC TABLE 

www.ForeverRedwood.com 

 

Step 1: Attach the upper long supports (1) to the in-between blockings (2) with 3/8´´ X 17´´ bolts (A). Each part has a series of 

numbers that indicate where to attach the part with the corresponding number.   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 2: Attach the upper short supports (3) to the in-between blockings (2) with 3/8´´ X 9 ½´´ bolts (B). Each part has a series of 

numbers that indicate where to attach the part with the corresponding number.  

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

1 

3/8´´ X 9 ½´´ Bolts 

 

3 

3 

2 

3/8´´ X 17´´ Bolts 

 



 

P| 5  

THE SEA RANCH PICNIC TABLE 

www.ForeverRedwood.com 

 

Step 3: To assemble the long and short lower supports (4,5), repeat the steps 1 and 2. Each part has a series of numbers that 

indicate where to attach the part with the corresponding number. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 4: Before attaching the legs to the supports make sure the long supports are not in the same direction. Each part has a series 

of numbers that indicate where to attach the part with the corresponding number.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

5 

4 

5 

5 



 

P| 6  

THE SEA RANCH PICNIC TABLE 

www.ForeverRedwood.com 

 

Step 5: Place the upper supports upside down. After that, attach the legs (6) to the upper supports with 3/8´´ X 9 ½´´ bolts (B). 

Each part has a series of numbers that indicate where to attach the part with the corresponding number.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 6: Attach the lower supports (4,5) to the legs with 3/8´´ X 9 ½´´ bolts (B). Each part has a series of numbers that indicate 

where to attach the part with the corresponding number. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3/8´´ X 9 ½´´ Bolts 

 

6 
6 

6 6 

3/8´´ X 9 ½´´ Bolts 

 

5 

5 

4 



 

P| 7  

THE SEA RANCH PICNIC TABLE 

www.ForeverRedwood.com 

 

Step 7: Turn the legs and supports over its feet. After that, attach the seats (7) to the lower supports with 3/8´´ X 5´´ bolts (C) 

and 3/8´´ X 7 ½´´ bolts (D). Each part has a series of numbers that indicate where to attach the part with the corresponding 

number.  

 
 

 

 

 

 

 

 

 

 

 

 

 

Step 8: Attach the tabletop boards (8) to the upper supports with 3/8´´ X 8 ½´´ bolts (E). The perimeter tabletop boards will be 

attached to the upper supports with 3/8´´ X 7´´ bolts (F), and 3/8´´ X 4 ½´´ bolts (G). Each part has a series of numbers that 

indicate where to attach the part with the corresponding number.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7 

7 

8 

3/8´´ X 7 ½´´ Bolts 

 

3/8´´ X 5´´ Bolts 

 

3/8´´ X 8 ½´´ Bolts 

 

3/8´´ X 4 ½´´ Bolts 

 

3/8´´ X 7´´ Bolts 

 

 

 

 

 

 

 

 

 

7 

7 



 

P| 8  

THE SEA RANCH PICNIC TABLE 

www.ForeverRedwood.com 

 

 
 

 

This completes the Picnic Table assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, 

don't hesitate to call us (866 332 2403) or email us. We are here to support you. 


